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YT 359 B &7 G 98 |
59 97-97 H g1 @Sl H 24 F97 & : WIS & X @UE G |
GUE & 4 FGIH%3 THR & 97 & Tl @8 @ H [d9IRE JHR & J97 & |

129 7T (6 + 18) = 24 57 4 8, I5HzaR &1 3 9 & @l (3feFan) 7T §
6+11)=17 97 & IH 37 & /

fd? a9y @ve & gy g941 &1 T8 FH 7 FF H7 JI1G 397 57 F015T |
GUE & : TGS THR & To7 (30 37%) :
(a) 39 @E T 65577/

(b) HF THRIHE 37HT 787 8 |

(c) 13T 7TQ #5791 & 31FER T |

(d) Je9% J97 | YT & TE STFRT bl FT IeoiG 16371 T & |
QU & : [d9THE FHR & T (30 37%F) :

(@) 3G H18 F77 & |

(b) FHIGAR BT 11 J97 F7 & |

(c) 13T 7T [39T 3 srgar Fiferw |
(d) T 97/ 97T & G 12T 37h1 &7 Ioci@ 15397 T & |

WUE &
(SIS THR % We) (30 %)
UNTR il W U T 6 91 d | fohegl 4 o I i | 4x1=4

(i) forelt =k gra fomm fopelt STl QEEhR & ST9AT SR & I T A
TeId . YR |

(i)  “Sefirar 1 Tk shell TR U I gET AT ST @ 17 @ Ag e W
RIS
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General Instructions :

(i)
(ii)

(iii)

(iv)

(v)

(vi)

(vii)

326

Please read the instructions carefully.

This question paper consists of 24 questions in two Sections : Section A
and Section B.

Section A has Objective type questions whereas Section B contains
Subjective type questions.

Out of the given (6 + 18) = 24 questions, a candidate has to answer
(6 + 11) = 17 questions in the allotted (maximum) time of 3 hours.

All questions of a particular section must be attempted in the correct
order.

Section A : Objective Type Questions (30 marks) :

(a)  This section has 6 questions.

(b)  There is no negative marking.

(c) Do as per the instructions given.

(d)  Marks allotted are mentioned against each question/part.
Section B : Subjective Type Questions (30 marks) :

(a)  This section has 18 questions.

(b) A candidate has to do 11 questions.

(c) Do as per the instructions given.

(d)  Marks allotted are mentioned against each question/part.

Section A
(Objective Type Questions) (30 Marks)
Answer any 4 out of the given 6 questions on Employability Skills. 4dx1=4

1) An individual demonstrates a desire to do his/her work without any

external reward is motivation.

(i1))  “Entrepreneurship is considered to be both an art and a science.” Is

this statement true or false ?
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(i) SNHANEE Calc # Teft BIHA TEa IEIdE |
(a) # b)  $%
) % d =

(iv) et Ush UH T[T ST Jeorg hIfSTT ST It bl Tt SHTAT 3 |

v) T &l B3 H Teh AT ATk ThIficH 1 TUE B |

(vi) fhed fohR @ T%q AT § STaria: SATeH-IwIdT o Wid i il 8l 8
3R 39 YR I8 WIehyd 3T IfcmT & X st 9raATsti sl 39d sid

g |
(a) Hiaym (b)  EHTS-fored
(c) Hmiad foer (Sfe@msd) (d)  wayifa
2. TUTU 79w | ¥ Fhgl 5 o SR MY | 5x1=5
() = ! gRwryg KT |
(i) T (relation) H attributes 31 T&AT el 1 |

(a) faft (Degree)

(b) TS (Attribute)
(c) hIfeAetd! (Cardinality)

(d) W9 (Domain)

(Gii) T¥E (relation) d attributes T Tk TC 3, omes fou
foreY relation state © a &d (tuples) EJ| Teh GHTA IR élc'éi\
T Bt |

(iv) SQLH, shici TSt ohi HHTS I TEEAT T FEAT AT el
g |

V) T I & oEehl ST e Tisde, afdd A1 fofee M

o fo7u fopam Sman 8
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(iii)  All formulae in OpenOffice Calc begin with sign.
(a) # (b) $%
() % @ =

(iv) Mention any one quality that makes an entrepreneur successful.

v) A is a collection of one or more worksheets in a single
file.

(vi)  People with personality disorder essentially lack a sense
of self-worth and thus experience feelings of emptiness and fear of
abandonment.
(a) Paranoid (b)  Antisocial
(c) Borderline (d)  Schizoid

2. Answer any 5 out of the given 7 questions. 5x1=5

(1) Define Data.

(i1))  The number of attributes in a relation is called its
(a) Degree
(b) Attribute
(c) Cardinality
(d) Domain

(iii) is a set of attributes in a relation, for which no two tuples

in a relation state have the same combination of values.

(iv) In SQL, a column definition can be changed with the help of
command.

(v) A/An is a task that is undertaken to create a unique
product, service or result.
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(vi) Il THY IR &, oEH SUATehdl o™ H W
A 7, T YD Fhd & AN T YT o I I H T & |

(vii) 39 =ROT § & HHE foeroft (problem statement) hT 9dT i B S
fore “e UfceTehs” TR T Bt 8 |

(a) SATITIHAT THYTHT =0T (H)
(b) TesirsT Bt

(c) ey %ot (fspamarm =won)
(d) E B (THieror =2or)

3. Tumu 7y A9 gl 6% S ANT | 6x1=6
(i) HFX H FTHA HAG H THA FUEY ¥IE  (named
storage location) %, Roroen w fafsrse 2er oy 3§ o1 fasares & S
39eh! 97 (value) 9CA Tehdl B |
(i) et ° forel < fufafes a1 e & AW wdmEu |
(i) ETH = =Tk AT B |
(a) TIOTAT (Arithmetic) (b) TEIES (Relational)

(¢) UHEHE (Assignment) (d) «IfSea (Logical)

(iv)  if — else T THIH B :
(a) switch.. case (b) while

(¢) for (d) do while

(v) ‘?—W (telecommunication) # &g BAwHe faeeH Q‘f%lgﬁglv—\q <hl
1S 3T A& 8 |7 4 T T Y 9El ? A1 Teid ?

(vi)  3AEIE (online) Gigert td T fafya yram wgfoat = 8 2
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(vi) are real time lectures, where users participate in the

lecture, may ask questions and get their queries answered.
(vii) In this phase we identify the problem statement for which the “web
application” is to be developed.
(a) Requirement Definition Phase
(b) Design Phase
(c) Implementation Phase

(d) Test Phase

3. Answer any 6 out of the given 7 questions. 6x1=6

1) A/An is the named storage location in the computer’s
internal memory, has a specific data type and its value can change

during execution.

(i1) Name any two primitive data types in Java.

(i1i)) In Java==1isa/an operator.
(a) Arithmetic (b)  Relational
(¢) Assignment (d)  Logical

(iv)  Alternate of if — else is :

(a) switch.. case (b)  while
(c) for (d) dowhile
(v)  “There is no use of Database Management System applications in

telecommunications.” Is the given statement true or false ?

(vi)  What are the different payment methods while buying online ?
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feon s 1 BYE (method) feen A faemm e7emi/ement i

(vii)

firrdt =) eeriay/eterdn @ |
(a)  indexOf() (b)  indexAt()
(¢) length() (d)  isEmpty()
4., TeuTu ¢ ywi 0 @ forgl 5% I T | 5x1=5

() Trafafea @ @ S et afersm i ge faewar 787 2 2
(a) Torefl TS 1 U IRY 7R UH 7@ Al 7
(b)  TTESHT 1 wh fafsre oo i it 2
(c) ST St I3 HTd &l gre
(d) RS 1 3ed fafire 3R 9g=m I gt @
(ii) SQTeh <hl SIrel TSATE o SRIF <l SITd] B TTfh actieh o
vgiaal # feret foraoft o fopell 3tTew & wred 8 ATt fehegl S19amal s

AT TR AT Fh |

(i) JVM 1 379 BT |

(iv) fertt 1oop ST body & TshaTa= &% TC test statement T
oo T B |

(v) Fare fFdt Table (URUM) | Uk AT AYF tuples i
forerdt 2 |

(vi) if ((percentage > = 40) && (percentage < 60))
{System.out.println ("PASSED with II Division");}
ITfE YT W femm FITT, @ &&, gH1 gEneTt & o a8 Sf= am T

(a) &R
(b) TeId

(c) 394 H HIg TH
d) 3w ¥ A HIE T
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(vii) method of a String Class returns the count of characters
present in a String.
(a) indexOf() (b)  indexAt()
(¢) length() (d)  isEmpty()
4. Answer any 5 out of the given 6 questions. 5x1=5

1) Which of the following is not a key characteristic of a project ?
(a) A project has a beginning and an end
(b) A project has a specific time frame
(c) A project has no boundaries

(d) The objective of the project is specific and identifiable

(ii))  The block is examined during execution to detect any
exceptions that may be thrown by any statements or any calls to
methods within the block.

(111) JVM stands for

(iv) The statement evaluates the test after executing the

body of a loop.
(v) command deletes one or more tuples from a Table.

(vi) if ((percentage > = 40)&& (percentage < 60))
{System.out.println ("PASSED with II Division") ;}

Consider the above statement, && will check for both the conditions

to be :
(a) True
(b) False

(c) Any of the above
(d) None of the above

326 Page 9 of 19 P.T.O.
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5. feutu ¢ sl ° 9 fordl 5% IO difvw | 5x1=5

(i)  SQLH, foet a1 W 3 (condition) @] Hid THA, WHERE clause %
TIHE | clause =T TN fomam SITaT B |

(i)  SQL o gg<h fheal a1 aggregate functions % A SATsT |

(iii) TorEl Acah HARM W 99 TSR & HIIH ¥ U application,

application &l SITdl 2

(iv) HATS (command) fo=m™E gt (server) 9 3IUcTsy EHEGECT
= TEfRid et € |
(a) Show databases (b) Show tables
(c) Create tables (d)  Display tables

v) ST TN Hedl-cATeH S Qn;:I (multi-line comment entry)
o fou fomam T gehat B |
(a) // (b) /F.LF
(c) ## (d) $$

(vi) Gt STem Statements T T B4 =178 |
(a) / (b) 8
© ; d &

6. fuTu 63w U @ gl 5% I N | 5x1=5

) aRg <t foret T e-governance website bl IH dd1sU |

i) Tl Q1 faeTga Seafres JedTsed o e faRan |
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Answer any 5 out of the given 6 questions.

5x1=5

(i) In SQL, while applying condition on a group, instead of WHERE

clause clause is used.

(i1) Name any two aggregate functions used in SQL.

(i1ii)) An application that can be accessed via a web browser, over a

network connection is called a application.

(iv) command displays list of databases available on the

current server.

(a) Show databases (b)  Show tables

(c) Create tables (d) Display tables
(v) can be used for Multi-line Comment entry.

(a) // ) B

(c) ## d $$

(vi) All Java Statements must end with
(a) / (b) 8

() ; d &

Answer any 5 out of the given 6 questions.

1) Name any one e-governance website of India.

(i1)  Give examples of any two online educational websites.

Page 11 of 19
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(i1i) Create backend database, frontend and the connectivity between

them Tor8 el o 3TdTa AT B ?
(a) Requirement Definition
(b) Design

(c) Implementation

(d) Testing

(iv)  e-governance fohd JehR AW I HRIET YSH LT & ?

(v)  Torefl T (program) % fsure § e hig I (error) st et
R 30 HRU ARG &Y 8 $Eeh! I (terminate)
el Sl R |

(vi) Payment_id, Payment_amount, Payment_date, Mode HIH! o Hed
T Payment Table W o= SIS | Ik Table § Primary Key sl
g hITTT |

ECLERC|

(Tersraraier R o T99) (30 31R)
TR FIeT W 170 70 5 991 4 @ 51 8 & ¢ 9w | y9% Y979 & I
20 - 30 3155 7 Ffaw | 3x2=6
7.  EHNHS IR HI ST T@H & T fpgl IR alierl &1 ggima ST |
8.  TorHl Iumehdl o T 3T ITelt forgl IR gaiftres M= qaieuii Seneti <h

Iooi@ i |

9. SATcH-E (self—awareness)%ﬂ%ﬁm@ﬁfmww|
10. e (Cale) H ST ol T ¥ M (sort) & F&I =10 feafu |
11. U G%hcl ITHT o ITE SACHZTE Fb1 3T 12T 2 36 W G&9 | == hiforg |
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(i11)) Create backend database, frontend and the connectivity between
them comes under which phase ?

(a) Requirement Definition
(b) Design
(c) Implementation

(d) Testing
(iv) How does e-governance benefits its citizens ?

(v)  An error situation that is unexpected in the program execution and
causes it to terminate unexpectedly is called

(vi)  Consider Payment Table with columns
Payment_id, Payment_amount, Payment_date, Mode.

Identify the Primary Key in the above given table.

Section B

(Subjective Type Questions) (30 Marks)

Answer any 3 out of the given 5§ questions on Employability Skills. Answer each
question in 20 — 30 words. 3x2=6

7. Suggest any four ways to maintain positive attitude.

8. DMention any four most common environmental barriers that an

entrepreneur may face.
9. Write a short note on the significance of self-awareness.
10. Write down the main steps to sort the data in Calc.

11. Why must a successful entrepreneur have self-confidence ? Discuss briefly.
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3T 70 5 971 7 @ 381 8 & I 20 - 30 Vgl (979%) 7 v | 3x2=6

12.

13.

14.

15.

16.

326

SET H comments ShT T SIS % ?

Ffdfgd e § $S JAf & | it IR (corrections) i I@Tiehd
(underline) Xd g oW &l IS AT |

Int x,y

x=10;

For (x=20, x<10; x--)

Yy = y-2;
System.out.displayln(y) ;

}i

ffafed 39a 1 IR o Y SQL e fafew

ECC R
SHicH T A LTS
G_ID Char(4)
Description Varchar(20)
Manufacture_Date Date
Price Decimal
Warranty int

Feqdrel | 3TTT=I~ET g YUl (Database Management System) & Tl @
ST T Ieoid hileTT |

TR H T aell da FREft (Salary table) % FHHfiiad wiadl & fog
SIS T Ia ST

Emp_ID

Name

Basic Salary

HRA

DateofJoin

Net_Salary
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Answer any 3 out of the given 5 questions in 20 — 30 words each. 3x2=6
12. What is the purpose of comments in Java ?
13. The following code has some error(s). Rewrite the correct code underlining
all the corrections.
Int x,y
x=10;
For (x=20, x<10; x--)
y = y-2;
System.out.displayln(y) ;
}i
14. Write SQL command to create the following table :
Table Gadget
Column Name Datatype
G_ID Char(4)
Description Varchar(20)
Manufacture_Date Date
Price Decimal
Warranty int
15. Mention any two usages of a Database Management System in Hospitals.
16. Suggest the datatypes for the following columns of Salary table to be

created :
Emp_ID
Name

Basic Salary
HRA
DateofJoin
Net_Salary
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137 17 3 3991 # & #5672 & I 30 - 50 Fsgl (I9%) 7 @ |

17.

18.

19.

3T 70 5 371 7 @ 387 8 & 3T 50 — 80 Vgl (979%) 7 faw |

20.
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2x3=6

forgl @ domain & 1 fARau & database applications T YEITT femam <
Tk | 3TH GEUd STEwIhdrati I 0 S & [T dIR fohu I aret 391 @9
domains Teh-Ush QT80T i _cﬁ'%l'Q |

JTHTIOTeh IETELUN <h! TERAl ¥ Syntax error il T iU |

YTHTTeh 3CTEU] Y Referential Integrity Constraint &I T @ﬁﬂ |

Ix4=12

fr=feiRga table W fomm Sifvm i for M@ & & fU SQL statements

fafeT .
&I WY
ID e foram T
M010 fireg defam Indian 40
MO020 GQlcd dgehl North Indian 150
MO030 CHIZT T4 Indian 100
P004 ESIGIREIES South Indian 50
P006 EEIRIR South Indian 170
P007 g South Indian 120
P008 Trsem Italian 200
(i) 99 B % ot frenied o1 wgffa i |

(ii)
(iii)

(iv)

¥t T 3TMEeR 1 HHd 10 F&T G |

T % Fed §U hE | e o g wefdfa Hifve |

Yoot B 1 HE FeRia Hifv |
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Answer any 2 out of the given 3 questions in 30 — 50 words each.

17.

18.

19.

Answer any 3 out of the given 5 questions in 50 — 80 words each.

EYE
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2x3=6

Write any three domain names where database applications may be used.

Also give one example of each of these three domains which can be

developed to cater their respective needs.

Explain Syntax error with the help of a valid example.

Explain Referential Integrity Constraint with valid example.

Ix4=12

20. Consider the following table and write SQL statements for the given task :

326

(i)
(i1)
(iii)

(iv)

Table Menu

1D Item Description Price
MO010 Grilled Sandwich Indian 40
MO020 Dal Tadka North Indian 150
MO030 Tomato Soup Indian 100
P004 Idli Sambar South Indian 50
P006 Vada Sambar South Indian 170
P007 Dosa South Indian 120
P008 Pizza Italian 200

Display all the records of the table Menu.

Increase the prices of all Menu Items by 10.

Display the Description and Price in the ascending order of Price.

Display the structure of Table Menu.
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@WWW@Q 19 5% i H&AT % a7 (squares) Sl T HH & faw
Sra | T e faf |

A o, AT 3R h AW aTelt BTl & IMUR W Fhad da4 (Net Salary)

1 YT i o foIu Sar d Disp_sal() ugfd =1 feifay |
(Net Salary = & 9a + T — Shelfcal)

2000 AT S8 ST SI1dT 7 A Net Salary 50,000 & 31feres 81 |
Net Salary i Teffa i |

FAR < digital country s # Online shopping Tsh ﬂ'&k_cr‘f_ﬂjf ’{&IW e
@7 | 3 gl 3 ufifeurfaat o1 faRae ste arufie offline shoppingﬁ ENEL
T online shopping 3Tk AEES & Tehd! | Online shopping A g
Tt S areft foredl & g waaTti w ot ==t hife |

While and do-while statements & < I(;h'-sﬁf ‘q;f q& firerdT <hl 914l 61 Sodd
ST | gET & syntax (ITI-TeAT) off S4@TST |
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Write a code in Java to print the squares of numbers from 1 to 5 by using

for loop.

Write a method Disp_sal() in Java to display Net Salary on the basis of
Basic Salary, Allowance and Deductions to be passed as arguments of type

double.
(Net Salary = Basic Salary + Allowance — Deductions)
If the Net Salary is more than 50,000, additional 2000 bonus is added.

Also display Net Salary.

Online shopping is playing a vital role in making our country a digital
country. Write any two situations when online shopping can be more
beneficial as compared to traditional offline shopping. Also discuss any two

main precautions to be taken while shopping online.

Mention any two main points of difference between while and do-while

statements. Also give the syntax of both.
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